. VCE & PDF https://www.pass4itsure.com/vcad510.html
g 2024 Latest passditsure VCAD510 PDF and VCE dumps Download

PassditSure.com

VCAD510%%As

VMware Certified Associate — Data Center Virtualization (VCA-DCV)
Exam

Pass VMware VCAD510 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/vcad510.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp

Q00O

Satisfied Customers

VCAD510 PDF Dumps | VCAD510 VCE Dumps | VCAD510 Exam Questions 1/3


https://www.pass4itsure.com/vcad510.html
https://www.pass4itsure.com/vcad510.html
https://www.pass4itsure.com/vcad510.html

VCE & PDF https://www.pass4itsure.com/vcad510.html
a 2024 Latest passditsure VCAD510 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

What is a virtual switch used to do? (Choose two.)
A. Replace physical switches to save money.

B. Connect VMs to the physical network.

C. Connect the ESXi OS to the physical network.
D. Connect to Fibre Channel storage.

Correct Answer: AB

Reference: http://pubs.vmware.com/vsphere-55/index.jsp?topic=%2Fcom.vmware.vcli.examples.doc %
2Fcli_manage_networks.11.2.html

QUESTION 2

You are in an interview for a position as a VMware administrator. You have been asked for a definition for virtual switch.
Which of the following would be a good definition?

A. A virtual switch can act like a router handling traffic between VMs on separate subnets

B. A virtual switch allows up to 500 VMs to share the same 1 GbE adapter through Network 1/O Control (NIOC)
C. A virtual switch allows VMs to communicate with each other and with physical devices.

D. A virtual switch allows VMware to segment a physical switch to isolate VM traffic

Correct Answer: C

QUESTION 3

Which of the following features is a benefit of shared storage within a VMware environment?
A. Allows storage to be deployed from a single vendor

B. Provides the ability to backup data more efficiently

C. Provides the ability to view the disk I/O more efficiently

D. Allows for the deployment of DRS and HA clusters

Correct Answer: D

QUESTION 4

You have been receiving complaints that the mail server has been slow. You investigate and determine that a print
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server in the same storage location is using much of the bandwidth to the storage array. Which
feature will allow you to increase the priority of the mail server so that it meets the SLA defined for it?
A. Storage I/O Control (SIOC)

B. Storage vMotion

C. Distributed Resource Scheduler (DRS)

D. vSphere Data Protection

Correct Answer: A

Reference: http://searchvirtualstorage.techtarget.com/tip/vSphere-Storage-I-O-Control-What-it-does- andhow-to-
configure-it

QUESTION 5

The network manager at your company is concerned about the performance on the virtual network. You explain that
virtual switches support many of the same performance features that physical switches do. Which two performance-
related options do virtual switches support? (Choose two.)

A. LACP

B. Traffic Shaping

C. QoS

D. VLANs

Correct Answer:. AB
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